= A
A & O &8 A & Ml M
201748 20a e &3
2A: 230
g3 HolS2el
el dEHIISX (&)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
3 12,320,198 13,138,678 A818,480
= 674,708
N 50,000
Jl 68,038
< 318,868
Al 11,208,584
HIlI= 22| 6,577,734 4,674,674 1,903,060
= 397,350
S 54,550
Al 6,125,834
MEHIISH™e 5,680,320 3,968,260 1,712,060
= 94,950
S 54,550
Al 5,530,820
MegolsgN2g 229,892 238,574 N 8,682
101 1244l 18,197 16,409 1,788
04 D12 R22 T S2= 18,197 16,409 1,788
OXIISE B2 18,197
oJlzs 51,7603 x 12 %247 12,785
oxg % 4UHEE=E S 5,411,960% 5,412
201 fet23E | 179,695 176,195 3,500
01 At 22l bl 29,291 25,791 3,500
Oge 2| 19,963
o HeAg MAJl 20101 25 F4
2,013,000 2,013
oMEESAN Y S BAL2E
35,0002 = 10CH »23] 700
o XII=HEI HUHE M
200,000& =304 6,000
0o BAESEE M UL A2 HEH
1,300, 000& 1,300
o MAJI=SEEI HYEE S+ A
60,000 *300H 1,800
o MAJI=-EI HE AEH MH
1,000& =1, 0000HK 1,000
o Jtdd, M D 2liE 2= M
2,050,000& 2,050
o XYIIAASE & SAHN=FHIIES EFE
S B0 EXE M 10,000 *507H 2= 500
o SAMERF HJI= 249N 82 4,600
-8y 60,000% =400 2,400
-t E 2003 x2E5%2,500& 1,000
-gHE 3,000& «15+200& 600
- AEIA 1002 352,000 600
O=&Hl 9,328




SN B
M HOls&e
el MEHIIZ 2 (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o mEUFEZZ2S FX 100,000& ~10& 1,000
o MYJIBSEM FRFX 200,000& *53| 1,000
o FAXE MYIIE0|I B2 =&
20,000& *10& 200
o HEEANHTE HR2FX 100,000& *103] 1,000
o SHADISHE ALY A(H, =4)
2,000,000 23| 4,000
0 SASE HIIS4H YRET
7,000 x82 x283] 1,568
0 SAMZ2E HIIZE o2t dF2FA
7,000& x4 *203] 560
02 332494l 149,704 149,704 0
OZ2Z222YLHA 11,600,000& 11,600
OAl& & H KX Y| 2,160,000 2,160
O &8hH| 135,944 ,000& 135,944
03 A2 EH| 700 700 0
OSAER HIIS ZMAN AIHEHT
700,000& 700
202 04| 4,250 4,250 0
01 2LHA Y] 4,250 4,250 0
OMHINIBEM RN 4,250,000& 4,250
206 M = Hl 27,750 21,720 6,030
01 &2 bl 27,750 21,720 6,030
SASE HII=S SIISEA 27,750
0o+ NHES QDR AXOE S)
2,000,000& 2,000
o HEZSHE(THIE) 6,500
- 52l 40«50, 0004 2,000
- 202l & 403 *30, 0004 1,200
- 602l & 40«20, 0004 800
- 1202l H 50& *50, 0004 2,500
0 BAZMY DI MNEEENZ(THIE) 10,850
- 202l & 633 *50,0000H 3,150
- 502l & 138& *50, 0000H 6,900
- P ZEX MAOIE KA 8& %100, 0000H 800
o dE+HEI ASsH F& 300,000&*12& 3,600
ocodEa4HE) €M F¢& 400,000& 128 4,800
UEY TN =R(EX) 12,000 22,000 A 10,000
& 3,000
Al 9,000
201 et A H| 12,000 22,000 A 10,000
& 3,000
Al 9,000




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 AFR2t2ltl 12,000 12,000 0
OMYDIZEEH HAXG M Il =A
10,000, 000& 10,000
= 2,000
Al 8,000
O30/ WEAMAE SFHEFX F 2,000,000 2,000
= 1,000
Al 1,000
MEMY I =HH ALY 1,022,376 757,137 265,239
101 @14l 178,592 131,033 47,559
03 RIHA2ZR2 4 136,366 89,676 46,690
o=y 64,560
0 BASE HIIB 4XT Yoz 2
50,000& »10& 23 1,000
o 2A0IsA == 150,000& 69 *23| 20,700
o &Z0Istd st 60,000& 69 »23] 8,280
o A0IsHA OF2+ED) 40,000 «69H 23] 27,680
o &0Isd =9 50,0003 69 3,450
o 2A0IsA LS X 50,000& *69H 3,450
O=gHt| 25,116
o 20 S2X =&l
7,000& 69 13| #6525 25,116
O==t| 42,000
o 220133 ==l
5,000& «100H+70H «12& 42,000
O& S| 4,690
o EE0ISY HLHEH (MAZ)
50,000& 70X 3,500
o A0S HLHFEH (RHLEEY)
8,500& 70 2 Xt 1,190
04 JI2ZtHZ22EE = 42,226 41,357 869
O3 ZAEE AR 22,226
oJlE=z 51,7603 x 1 »247L 12,785
o =% ¥ 4UHEEE S 9,441,000& 9,441
O=H & EEII2H #A02 20,000
o 2SR oAl 80,0003 25«10 20,000
201 LEr2 Y| 298,200 299,320 A1,120
01 AtR 22l | 10,220 11,340 21,120
O Et==EH| 4,220
o FA¥H PRI 2,000,000& 2,000
o EAXE ZME & A2
35,000 »16CH »23] 1,120
o =ElEZES S 4 82 Y
60,000 x2& *53] 600




S 23HD
M. HOIS2el
el MEHIISHR (298 R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o A2E B dls MY D 2eltiE FLUEE
1,000& *5000H 500
OZ2 | 5,100
o A PRFX 3,000,000 3,000
o AXHII=S £HHMHe g2F=&X
7,000 *x20H 10 1,400
o MY IJIEEED| OF2cts HRFX
7,000&x10E 10 700
[ PRI E= 900
o X HIIZ +=HEH Xz
300,000& *1CH *33] 900
02 332494l 282,780 282,780 0
OZ222=2LHA 36,000,000& 36,000
OAl& & H KX Y| 10,780,000& 10,780
[ pReai=ds]l 6,000,000 6,000
[ DPNE=FaR=1as] 230,000,000& 230,000
03 S AIS H I 5,200 5,200 0
ONRs tHetol=20t=I| 85 400,000 33 1,200
O30 S 2,000,000& x13] 2,000
OZ0I3&d MU 2,000,000& x13] 2,000
202 04| 4,750 4,750 0
01 2LHOHI 4,750 4,750 0
OMEMY I RFX 4,750,000 4,750
206 M= Hl 87,434 84,634 2,800
01 & bl 87,434 84,634 2,800
OMYIIRZEEE HE(HUMS+2A433) 51,900
o 52l 263 *50, 00004 1,300
o 102| & 38& *50,0000H 1,900
o 202 & 63& *200, 0000H 12,600
o 202l (HAEEE) 70& x50, 0000H 3,500
o 502! & 138& %200, 0000H 27,600
o TR MAOIH HE 10& *500, 000 0H 5,000
O S M0 M (ZHIHE) 8,100
o 202| Ef 3502 x10,0000H 3,500
o 502! & 460& =10, 0000H 4,600
OMYDIIREESE HH(B28) 14,650
o0 202l & 63& x50, 0000H 3,150
o 502! & 138& *50,0000H 6,900
o D& &502I & 4603 =10, 0000H 4,600
OZ0|13d L T2 AKX 83 12,784
o EctAEY 6,000& 63 *2 756
o &g B00R x63H 52 ¢f| 128 2,268




AN 31
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 2HEYXNHE B (EE)
180,000& =128 2,160
o 2HEYXNHE B (EL)
250,000& 122 3,000
o Hs<td =00 XM= 4602 +10,0000H 4,600
301 et a s 2,400 2,400 0
MIIEBE4d3 2,400 2,400 0
O=S8SD| MIOX 2&=s 10,000& 30 300
| DN (] I B R = 30,000& 2024 600
OMXIIZE01D 2+ B8 La=
300,000 *5H & 1,500
307 glz2tol & 60,000 40,000 20,000
05 RIZt &= 60,000 40,000 20,000
OZAMY DMl =D HII=S HMel
100, 000& 200& 20,000
Os0E, &2t EXIMYI Hel
100, 000& 200& 20,000
OMBS XA =020 ™el
100, 000& *200& 20,000
405 RHoHF S HI 391,000 195,000 196,000
01 AL EZFH S 391,000 195,000 196,000
orgJl 2els=Hg # 300,000 *504 15,000
OE2ZH 2 376,000
058 EAXY 94,000,000 »4CH 376,000
Has Aty 690,740 69,280 621,460
201 L2l 60,840 48,840 12,000
01 At 22l 12,600 12,600 0
OB ==EH| 12,600
o WESHEY BUIBY 242
200,000& 122 2,400
oMEBBHUZSH ANS2IBE 7Y
1,050,000 1,050
o MEEdEd M)t E
200,000 »12& 2,400
OMEESHEY HABE = £48
400,000& »23] 800
OMEBHEE +HAL FHIIGHHAAN 22
=3 1,000, 000& 23] 2,000
o SASFAHXNES NskHEAF==Z
35,0002 ~10CH 350
o SASMYJ dESE E HEE A0t
tHAtE 228 &M 2003 +8,0000H 1,600
o AEFJIXA B8 M 200,000 *10H 2,000
02 =224l 48,240 36,240 12,000




SH 230
M HOI2He
Cel: MEHIsHel (cho &)

SA - BB B () - MM - BES Ol &t o San HmEET
OZZ23ZLHA 1,300,000& »12& 15,600
OA & ZEHl S Xl 26,400,000 26,400
[ DRSaR=3] 1,300 *4002| A x12& 6,240
206 M= Hl 21,100 13,300 7,800
01 =8l 21,100 13,300 7,800
OHEELHEE 2E HE ¥ 17,300
O HESHEY ZHad LASUE
4,700,000 4,700
o FoldE =W 2,200,000& 2,200
o HE"EE =Y 2,200,000 2,200
o DEHEZ 1,200,000& 1,200
o OtA3 1,000,000 1,000
o MEEsddetel R2EI| EEHS
2,000,000% =14 2,000
o A&J|H L AMEHH 2R
50,000& *x40S 2,000
o A&JIAH L AMA&FEH Feli
50,000& x10& 500
o B 2 ws 500,000& 500
0 JIAHRE ¥ A & 7Y 1,000, 000& 1,000
ONMEESHEY AJIZRH SHONH 2L
300,000 »4JH »23] 2,400
OAJZ220 HAY ¢ 300, 000& *2H 600
oAJIz22H 8 7Y 200,000 *4H 800
301 L2 A Z 500 500 0
11IIEBEAS 500 500 0
O3 AME AHMAD Z&Z3 25000&+20A 500
307 21201 A 10,000 0 10,000
05 BIZHRIE 3 10,000 0 10,000
ONMEESHEY HII= fI8Xe
100, 000& »100& 10,000
401 AIEHI L 2 CHYI 595,000 0 595,000
01 A& HI 595,000 0 595,000
Ol 2 WH 30,000,000 =14 30,000
OIMI RS= wil 20,000,000& =14 20,000
ONMEESHEY &I MOoE WX
5,000, 000& »4H 20,000
OMEELEE =2 FHl & X& SAM
150,000, 000& 14 150,000
OMEEHEE AUTA(HES IMS)
250,000,000 » 14! 250,000
oOXgI B2AM4 &EX 100,000, 000& 14 100,000
ONMESHEY M8t B
20,000,000& =14 20,000

_6_




2M: 83
M HOI=22e
Cel: MEHIsHel (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OMESLHEZ WD A E=
5,000,000& =14 5,000
405 XHoHF S HI 3,300 6,640 A 3,340
01 XA 2 S FH S| 3,300 6,640 A 3,340
ONMEEHEE Olss 228
1,650, 0002 »2CH 3,300
SZ HHlY HEBAZS(EX) 151,300 104,300 47,000
= 15,150
< 15,150
Al 121,000
301 L2 A=z 151,300 104,300 47,000
= 15,150
= 15,150
Al 121,000
1MIIEBESS 151,300 104,300 47,000
O=ZEHHE = B43 151,300, 000& 151,300
= 15,150
< 15,150
Al 121,000
StEOI R MY DI HSAIG (B X) 114,000 114,287 A 287
= 79,800
< 11,400
Al 22,800
101 124 dl 84,000 84,000 0
= 58,800
= 8,400
Al 16,800
4 D12t Z2 RS2+ 84,000 84,000 0
Oot=2 X DJ1=H MelAte 84,000,000& 84,000
= 58,800
< 8,400
Al 16,800
201 Let24d] 25,000 25,000 0
= 17,500
< 2,500
Al 5,000
01 At 22l 25,000 25,000 0
O5t=2 2 01=H XelAtg 25,000,000& 25,000
= 17,500
< 2,500
Al 5,000
206 M= dl 5,000 5,287 AN 287
= 3,500
< 500
Al 1,000
01 =8l 5,000 5,287 A 287




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - BB B () - MM - BES Ol &t o San HmEET
OELEE 7¢ 5,000,000& 5,000
= 3,500
< 500
Al 1,000
SMEXCE 29 1,681,112 1,203,947 477,165
201 L2l 286,690 284,525 2,165
01 At 22l 16,690 14,525 2,165
OB ==EH| 12,330
o ARFI MRESFEY 685,000& 685
o SASXHEANE RUTHESR =2
1,800, 000& 1,800
0 SASHRAY WIS
4,100,000& 4,100
o SASXHEANE AR 500,000& 500
0 BABHEIAE HTINLH 248
900,000 900
0 SASHIANE FIIAA +42
2,000,000& 2,000
0 SAS EHHILE L HES L2TAN £+
=3 600,000& x13] 600
0 SASHAANL HABASH 428
895,000& x13] 895
o SASXelAE MIILH HIIZM =2
850,000& x13] 850
O= &l 1,000
o BAZ2 MESYR =X 1,000,000& 1,000
[ DN = 1,560
0 SABHIAANE F4I| e
130,000& =122 1,560
O =l 1,800
0 SASHUANL 22N A= U FE
100,000 x9H 23| 1,800
02 2324l 270,000 270,000 0
O3 LHA 227,400
od+ER3 1,500& *1,000E *63| 9,000
o MIIR=a 140& 130, 000Kwh* 122 218,400
OAN&EHl Sl 37,600,000& 37,600
OA=H| 5,000,000& 5,000
206 = Hl 88,016 87,016 1,000
01 =8l 88,016 87,016 1,000
OSAEXeANE &, A=SAF A
10,000& »202| & x30= 6,000
OSAENASANE 22235 ¢ 16,000
o MIIXK 2 100,000& x10E *33| 3,000




2AM: 2F

Mz @Ol
S MEHII2KHe (2 &HH)
- RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
082 259 7¢
1,000 x10Z ¢f| »20L *103] 2,000
o BEzgeE R¢ 10,000 «201 *103] 2,000
0 224 ESEE RY(D3,¢4x=2 01A3)
10,000 x5« 10 x103] 5,000
o JAHAESE 2¢ % R2lA 2
150, 000& *10= *23] 3,000
o AMES A(MEESE 5) 1,000, 000& 1,000
OSASHeAE KRS 22328 S 7Y 66,016
0 #TEE 60,0002 %0. 25 *BA| 2t %2441 2t 23,424
o &5E 220,000 0. 2= «8Al 2+ 121 A 2+ 42,592
207 I & 157,206 137,206 20,000
03 AIE A 32| 157,206 137,206 20,000
SAESHEANYE EF:AH 2
50,000& *50kg*6 & 15,000
OSAEXNEANYE EFEH 5P
3,000,000& 3,000
OSAZXH2ANYE EE2Kels8 ERY 139,206
o =2l 39,348,000 39,348
o AELM(LESAH) 49,858,000 49,858
o It AL 50,000,000 50,000
AEHI Y200 659,000 389,000 270,000
01 Al&H| 654,050 386, 120 267,930
OSASKHeANE =2 WHZA
100,000,000 *99. 10% 99,100
OEE)| E=E BB A
100,000, 000& *2JH 2~ %99 . 28% 198,560
EXE HOIAE DHZSAHSFBITZ)
6,000,000 *23| *2 4 &~ 24,000
OEHISAIE &40 ExZA 15,000,000 15,000
OSASENASAE SHEEHY LR
At 100,000,000 %201 A~ x99 . 28% 198,560
OSAESEFNEFFAIE EEHSI| WHZ2A
5,000,000 107K 2~ %98 . 92% 49,460
OSAZEFNIFIAIE =& W2 A
7,000,000 x 1000 2~ *99. 1% 69,370
03 Al 20| 4,950 2,880 2,070
OSAZSHEAE U2 WHEA
100,000,000 *0.90% 900
OEE)| JAES B3 A
200,000,000 *0.72% 1,440
OSAZEFTNIAFIANE SHESEHE HNELEXZ2
At 200,000,000 *0.72% 1,440
OSAZEFNIATIANE “FHSI| WHZA
50,000,000 *1.08% 540




TR

ot
szel

HII=Xel

- _ _ RE]
N HE - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
OSASFNAASTAIE =S Hi&EE W2 A
70,000,000 *0.90% 630
402 SI2FXHE0| & 220,200 196,200 24,000
03 QI2HCH &4 AF S HI 220,200 196,200 24,000
OSAEE HIIS /A= (2Z)
120,000& x30E x 15 54,000
OSAEs HIIS A= (5L, =H)
120,000& *30E 17 61,200
OSAZEF HII2 4K Haldl
110,000& *3E 2003/ 66,000
OsSAE2 854 0l 10,000 x50 30 15,000
OSE&ES AE (NS E B =D HIIZ)
300,000 x80= 24,000
405 XHAHFEIEHI 270,000 110,000 160,000
01 AL 2B F S| 270,000 110,000 160,000
OSASHeZ OZHEF 2 (34)
230,000,000 *1 230,000
O S0|AE 2 40,000,000 =14l 40,000
EH(AZE) 2 1,728,900 1,458,735 270,165
201 et 9| 13,900 13,735 165
01 AR 22l ] 8,900 8,900 0]
Ot 2Y| 2,400
o ZYUE & FAXNIEAM E&Hs M=
200,000& *43| 800
OANEEE MMEAE BAESE
100, 000& *2JH A x83| 1,600
oYz 6,500
oANEEE MMEALE &l Xt
6,500,000& 6,500
02 232%H4| 5,000 4,835 165
OZ2Z2222AHA 2,000,000& 2,000
OAE &Y S XY 3,000,000& 3,000
207 30 | 50,000 0 50,000
01 A2 EHH| 50,000 0 50,000
O NESZHEE MZF22 =H SFEFIS A
g9 50,000,000 50,000
308 XHXIGHH SO0l & 1,000,000 900,000 100,000
07 AKX SHHZ2ZHES S 1,000,000 900,000 100,000
OTUMYIINYE L 22T 2923
1,000,000, 000& 1,000,000
401 AlEHIZ 2 0HY| 15,000 15,000 0
01 Al&H| 15,000 15,000 0
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2M: 83
M HOI=22e
S A EHOIS 22 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o HJIZ2 &L FRFX 1,000, 000& 1,000
O1l =l 800
o HIISMESAM SH=5E(4 - 5H2)
50,0003 x4H +23| 400
o HIISMEEIM HES (=53
100,000 »4H x 13| 400
[ DN = 3,000
o HIIZS=EHIME =ol&Hl Xt
3,000,000& 3,000
02 2=2Z 4l 3,600 0 3,600
OAFHZULEHE AAE KX 22
300,000 1201 & 3,600
202 oddl 1,303 1,303 0
01 = LH o4 1l 1,303 1,303 0
OMBZHIIS2C BEFA 1,303,000 1,303
206 M= Hl 3,000 2,000 1,000
01 =8l 3,000 2,000 1,000
OMSZHIIE =2ZA =8 2
5,000& 2004 1,000
OHDISMYE AHTHY Do
50,000& =404 2,000
307 21201 A 20,000 10,000 10,000
05 QI & 3 20,000 10,000 10,000
OgX HIIsHdel (A4 & NFHIIE S)
100, 000& »200E& 20,000
405 XHobE S HI 45,000 0 45,000
01 AL EFH S 45,000 0 45,000
O3 Is2X & ANSHAFX &X
45,000,000 1CH 45,000
ALHII =22 9,386 9,386 0
201 L2l 7,689 7,689 0
01 At 22l 5,675 5,675 0
OB ==EH| 675
o AAHIIZXN2Y 3 L NEFEH 2=
& 675,000& 675
O= &l 1,500
0o ALHIIS Y QG0 Y SHEAD FX
1,500, 000& 1,500
[ DR NE= 3,500
o ALHIIE SYHHE = &HH 2xt
3,500,000 3,500
02 8323l 2,014 2,014 0
OZ222SLAA 2,014,000& 2,014




2AM: 283
J

X Hols2el
S A EHOIS 22 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 1,697 1,697 0
01 = LH 4 Hl 1,697 1,697 0
OH&HIlS2e g2=2 1,697,000& 1,697
Zd0IE HMeUXNA(BX) 804,800 672,000 132,800
2 302,400
Al 502,400
402 QI2EX201 ™ 804,800 0 804,800
2 302,400
Al 502,400
03 I 2HCH & A S HI 804,800 0 804,800
O-FSY0EXMel XA 804,800,000 804,800
2 302,400
Al 502,400
AAHESHBH 226,391 209,400 16,991
= 45,000
J| 18,038
< 24,002
Al 139,351
SIEMAS 226,391 209,400 16,991
= 45,000
J| 18,038
< 24,002
Al 139,351
ANHASEEH ALY 52,445 58,360 A5,915
101 @14l 15,948 14,863 1,085
M4 JI12ZHZEXNSES 15,948 14,863 1,085
OZMEHXZ A 21 AH|
(51,760 x5H »602! )+(51,760& x5 60 ) *2. 15,948
7%
201 £B-2d| 8,497 15,497 A7,000
01 At 22/l 8,047 15,047 A7,000
OetEH| 4,547
o JI=H3 IS EE22 MH 547
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